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AotrS ALE A 31,127,026 32,205,399 A 1,078,373
= 5,383,000
< 489,000
s 25,255,026
ab 2t 1,037,379 577,564 459,815
A2 =54 29 181,015 187,700 A6,685
A28 =S A4 =E2e 181,015 187,700 A6,685
201 Let2d] 164,015 169,700 A5,685
01 At 22l I 134,515 141,200 A6,685
O AR2 =ZAE =ZAMN AMES (BT
ZAH/150HE =) 90,000& 1200 2 %13 10,800
O 272 =T AME 2 HA NES (2 4
ZAH/B0IHE =) 380,000 *17000 2 13 64,600
O 272 =SAE A AMEE(H5 2D
ZAH 1404 E =) 75,000 *17000 2~ *33| 38,250
O 272 =S AE A AES(H5 B
ZAH/1IHES) 55,000& 17004 2 23 18,700
O U= SSAME(L%2H) =LA AEZ(
2 E BA/ATHES) 340,000 *5H 2 1,700
O U= SSAME(LY=2H) =LA AEZ(
=2 ZAH/6HES) 31,0002 *5H A +33] 465
02 2324l 29,500 28,500 1,000
O A2 =EA4 2227 € 7X2aldl
75,000 #1700 2 *23| 25,500
O H== EsAd 2227 2 72
400,000& x50 2 23] 4,000
206 M= Hl 17,000 18,000 21,000
01 =8l 17,000 18,000 A 1,000
O Aassds3 2¥ 50,0003 *17000 22 +23| 17,000
A2 =5 A4 2el 856,364 389,864 466,500
NEEXSSHALY 65,500 65,500 0
401 AIEHI L 20 65,500 65,500 0
01 A& HI 65,500 65,500 0
O A2 A4 OAs=AXTEI WA
5,600,000 «5J4 & 28,000
O A2 A4 EEX WM
3,500,000 «5J4 & 17,500
O ARE =EAN4E A=524F s £ wAH
4,000,000 *5J4 & 20,000
A28 =S AE A 220,000 144,500 75,500
401 Al HIZ 2018 220,000 144,500 75,500
01 A& HI 220,000 144,500 75,500
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O &X MNE A7R2 =ZAl4E FH+3 g
S22 XA 40,000,000& =14 40,000
O =23 82 272 =T A4 FH2 g
S22 XA 40,000,000& =14 40,000
O A3 g A2 =T A4 HEMZ
80,000,000& =14l 80,000
O A78 =EAE 3 F= nAHSAM
4,000,000 *5H 2 20,000
O AR =ZAId 283 EHSAM
40,000,000& =14 40,000
22 =TAE HES 120,864 120,864 0
401 AIEHI L 201 120,864 120,864 0
1T A& HI 120,000 120,000 0
O 272 =ZAM4 218 HES
2,400,000 *500H 2~ 120,000
03 AIE2 2 THHI 864 864 0
O ARE =ZAE HESZAFE 20U
120,000, 000 E+0.72% 864
A28 =EAE AR EXAY 450,000 59,000 391,000
401 AIEHI L 2CHYI 450,000 59,000 391,000
01 A& Bl 450,000 59,000 391,000
O =23 T8 A2 A4 Aa8XAMY
250,000,000& =14 250,000
O Dhak o ARE =T AE AFEXIAMY
200,000,000& =14 200,000
ot=S 2tel 15,191,714 17,432,155 A2,240,441
= 5,383,000
< 489,000
s 9,319,714
St=XelAd 29 4,096,459 3,486,175 610,284
St=ZE2Xeld 29 3,429,252 2,860,637 568,615
101 @124 dl 11,520 8,280 3,240
04 JI2ZtHZ2XREES 11,520 7,680 3,840
O S8HP ZZot=HMclAlE S3Z3EHl LAIA
o ol 160,000 »4H «6IH 2 33| 11,520
201 L4l 1,419,574 1,255,595 163,979
01 At 22l 71,350 66,886 4,464
O st4+ZLH2Y 2P M= o FG
2 (BLH) 600
- Hg=s 200,000& »x2H 400
— OotAd Gt 100, 000& »2H 200
O &JI&H gtdze| e =8
300,000& *70H 2128 25,200
O St==dX&=H A 550,000& *x1JH 2 *13] 550
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1,600,000& x123] 19,200
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O AgA JJlxc ¥ HH |X 2%
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SX B4 650,000 *48JH = 13| 31,200
O o 2Z26t4HelAldE AL AsA|
SXNE 600,000 *30H *13] 18,000
O Z22c6t=XclAld CCTV KANE %
200,000 x50 *13] 10,000
O ot X A= el 92,000 *3,500= 322,000
O lds Z2Z20tx=HeAE HESI SXNES
400,000 *505 *13] 20,000
O eSS B3cta=HMelAE HIIEH SAES
2,500,000 x123| 30,000
O 2LaHdelAd J1HEH SXNES
400,000 *50& *13] 20,000
O 2o XdelAld MEZ O KA
3,000,000& =14l 3,000
O &dAXeygd B8 2 HAH 2
900,000 =14l 900
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O 3Aaxdg RFU 1,390& %4004 *12& 6,672
O "AXY Sel2s 3,000,0002 *1CH 3,000
O +BNSSHY(MS)2Y 2223
10,000, 000& 12| 10,000
O &XY ZIot==XMelAlE JIH&H sX 22
2= 2,000,000& *1H 2 +15F 30,000
O 230 ZIot==XMelAlE JIHEH sX 22
2= 2,000,000& *1H 2 +15F 30,000
O &4t ZIot=HelAld JIH &8 |22
2= 2,000,000& *1H 2 +15F 30,000
O 2UE Z3ct==XelAld JIAH&H |X 22
g2 2,000,000& *1H 2 +15F 30,000
O st ZIot==HMelAld JIH&H |X 22
g2 2,000,000& *1H 2 +155F 30,000
O sX% ZIot==XMelAld dII&H |22
g2 2,000,000& *1H 2 +105 20,000
O =230 ZIot==XMelAld HdIILH |22
g2 2,000,000& *1H 2+105 20,000
O &atH ZIots=HelAld dIILH |22
2= 2,000,000& *1H 2 +105 20,000
O 2UY Z3ct=XelAld HdII&H |22
g2 2,000,000& *1H 2 +105 20,000
O st ZIot==XMelAld MII&H |22
2= 2,000,000& *1H 2 +105 20,000
O sXY Z3ot==XMelAld A=4H |22
2= 15,000,000& *1JH £ 15,000
O 238 ZIZot==XMelAld A=4H |22
2= 15,000,000& *1JH £ 15,000
O &aH ZIots=HelAlg A=4H |22l
g2 15,000,000& *1JH £ 15,000
O 2UE Z3ct=XMelAlg A=LH KX 2a
g2 15,000,000& *1JH £ 15,000
O st ZIot=HelAld A=4H |2l
2= 15,000,000& «1JH £ 15,000
O ZE3B3ct=xelAld HME & FX 2=
5,000,000& x53] 25,000
O sd33ct=xelAd HME & FX E=
5,000,000& x53] 25,000
O oleg33ot==HelAlE AdHLIAE E=
12,000,000& *1JH £ 12,000
O i3 3ot=HelAld dHLIAE E=
17,500, 000& 27| 35,000
O sX33ot==HelAlE AdHLXALE E=
15,000, 000& 27| 30,000
206 = Hl 179,240 141,562 37,678
01 M2 4l 179,240 141,562 37,678
O g=8 sdXl &M 7&
6,000& *10,000kg 60,000
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O 23dt=HelAld 82X =XelMd 7*¢
218,000& =184 =103l 39,240
O o# 238 0|42 %45 7Y
10,000,0003*2]H_+_*3§| 60,000
O M8a 2 +ENSSIII (M) 4B 24
*s 7Y 500, 000& x20E *23| 20,000
307 glz2tol & 693,792 674,520 19,272
05 RIZIRI & 3 693,792 674,520 19,272
O B3ot=HelAld Q& SZ
3203 +5,940= 365 693,792
401 Al HI & 28I 1,125,126 769,680 355,446
01 A& HI 1,125,126 769,680 355,446
O X et 33dt=xelAld 2 2L Jl=
A 29 10,560,000 «37H £ 31,680
O dsS S 5 ot=22 Jl=dld 89
483,446,000& » 14! 483,446
O 3B 3ot=xeld g&8=Helll *& &X
150,000, 000& * 17| 150,000
O sta33ot==HMelZd S&SXeldl LHMIA
HAEH 24 20,000,000& =14 20,000
O sta33ot=Held g&=2xeldll A ¢
X3 At 30,000,000& =14 30,000
O sX33ot==HMeld &=I X A&
10,000, 000& * 14 10,000
O sX33ot=Hel&d &=I A
20,000,000& =14 20,000
O sX33ot==Held &I P&
40,000,000& *27| 80,000
O a3 3ot==HMeld I X A&
10,000, 000& * 14 10,000
O gd33ot=Held &=I A
20,000,000& =14 20,000
O i3 3ot=Held &I L
40,000,000& #27| 80,000
O olegsS S3ot=HelAld D=2X 43 2=
X &X 100,000, 000& 14 100,000
O 4t ZIZots=HelAlE TMIA
45,000,000& * 14| 45,000
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45,000,000& * 14| 45,000
0t dt=XelAd 29 667,207 451,538 215,669
101 @124l 9,600 1,600 8,000
M4 JI2ZHZEXNSES 9,600 1,600 8,000
O Ot2 ost=XMelAld =3 x=&dy
160,000 x6H 52 23| 9,600
201 et 657,607 449,938 207,669
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02 =224l 657,607 449,938 207,669
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O b2 dSt=XMelAld dII4H |UHE=
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O b2 St=XMelAld &3
350,000& #4600 2=« 12& 193,200
O 2Xelxty 37U 1,390 %4804 =12 8,007
O & X™elxtg =4 3,000,000& =14 3,000
O gdelxtey 282 & MAl
900,000& x13] 900
O oi2H9 st=HMelAld £ Xl =HE
28& 10, 000kg*46H 2 63 77,280
O DISE9 St=XMelAld SHEZE 2 ot
2 WEEL 370,000& x540H A 43 79,920
O X2Ad A5 #Z 2 otFI| WA
600, 000& =114H 68,400
O Oi2ot=HMel&d Z2LIHY AlIAE 4
6,500,000 *5H A 32,500
A28t S E 1,869,000 1,162,980 706,020
AL OtSotaE U (AA2 FUSFAAY) 519,000 1,032,980 A 513,980
401 AIEHI L 201 519,000 1,030,980 A511,980
01 A& HI 519,000 1,030,980 A511,980
O OtSot=& HH AL 100,000, 000& * 14! 100,000
O did & dt=% FHISA
30,000,000& =14l 30,000
O &b &2 ot=E FHISA
20,000,000& =14 20,000
O & 28 ot=T FUISA
15,000, 000& 14! 15,000
O &b A2 ot=E FHISA
20,000,000& =14 20,000
O shak ol & ot== ZHIS A
15,000, 000& 14! 15,000
O 3h&k 0tY ot=& FHISA
25,000,000& =14 25,000
O 8d& 2 dt=% FHISA
20,000,000& =14 20,000
O A= &l ot=% FHISA
20,000,000& =14 20,000
O A= AME dt=% FHISA
35,000,000& =14 35,000
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O A= == dt=% FHISA
15,000, 000& 14! 15,000
O H= EX ot=% FHISA
18,000, 000& 14! 18,000
O D¢t 25 St=% FHUISAM
10,000, 000& 14! 10,000
O & 40t ot=& HHISA
18,000, 000& 14! 18,000
O &b Al St=E FHISA
16,000, 000& 14! 16,000
O & &3 ot FUISAM
12,000, 000& 14 12,000
O 22U =2 o= ZUISA
20,000,000& =14 20,000
O 22U ot ot== ZHISA
20,000,000& =14 20,000
O 22U &= dt== THISAM
25,000,000& =14 25,000
O 22U ¢33 ot=% ZHISA
20,000,000 =14 20,000
O U R dt=% FHISA
20,000,000& =14 20,000
O W A dt=% FHISA
25,000,000& =14 25,000
A2 0iSdt=& |X22 100,000 100,000 0
401 AIEHI L 20HEI 100,000 100,000 0
01 A& Hl 100,000 100,000 0
O A2 0tSot=% E=  50,000,000& x14 50,000
O ot=& &L I3 A 50,000,000& =14 50,000
s A= Meldst=XelAld EXAY 1,250,000 0 1,250,000
401 AIEHI L 2 CHYI 1,250,000 0 1,250,000
01 A& HI 1,250,000 0 1,250,000
O dgdsS ¢ Melst=HMelAl" ZXIAL (R
Hl) 1,250,000, 000 14! 1,250,000
21 Z | 2,084,000 1,944,000 140,000
= 1,458,000
i 626,000
&X OI0F ot==2t2 HHIZA 302,000 1,071,000 AT769,000
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e 91,000
401 A& HIZ 2018 302,000 1,071,000 AT769,000
= 211,000
fia 91,000
01 A& HI 151,000 1,030,000 A 879,000
O &X 0|0k ote=22 | S Al
151,000, 000& 14 151,000
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= 111,000
s 40,000
02 Zeltl 150,000 40,000 110,000
O &7X DI0F Gt==22 FHISAM
150,000, 000& * 14! 150,000
2 100,000
e 50,000
03 AlE S THHI 1,000 1,000 0
O &Xl DIOF of=22 HHIZA
1,000, 000& 14! 1,000
ol ot==22 FHIAY 996,000 873,000 123,000
2 697,000
s 299,000
401 Al HIZ 201 I 996,000 873,000 123,000
2 697,000
s 299,000
01 A& HI 845,000 772,000 73,000
O g8 ot=22 FHIAY
845,000,000 » 14! 845,000
2 597,000
e 248,000
02 Zeltl 150,000 100,000 50,000
O lgs ot=22 FHI ALY
150,000, 000& 14! 150,000
2 100,000
e 50,000
03 Al S THHI 1,000 1,000 0
O S at=2= FHIALY 1,000,000 =14 1,000
FUHH HH ot+=2t2 HUIAY 500,000 0 500,000
= 350,000
[ia 150,000
401 AIEHIZL 201 500,000 0 500,000
= 350,000
s 150,000
01 A& HI 499,000 0 499,000
O ZUY Ui ot=2=2 EHHIALZ
499,000,000 » 14! 499,000
= 350,000
[ia 149,000
03 Al S THHI 1,000 0 1,000
O ZUY i ot=2=2 HUIALZ
1,000, 000& 14 1,000
St stE ol+=22 FHHAY 286,000 0 286,000
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[ia 86,000
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s 86,000
01 A& HI 285,000 0 285,000
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03 A& =2 THHI 1,000 0 1,000
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1,000, 000& 14! 1,000
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= 1,368,000
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e 1,795,000
e S3ot=Held SEMH 2,736,000 1,000,000 1,736,000
= 1,368,000
= 273,000
s 1,095,000
401 A& HIZ 201 I 2,736,000 1,000,000 1,736,000
= 1,368,000
< 273,000
fia 1,095,000
01 A& HI 2,235,000 999,000 1,236,000
O digsS S3ot=HMelE SEAMY
2,235,000,000& 14! 2,235,000
= 968,000
< 273,000
e 994,000
02 2feldl 500,000 0 500,000
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500,000,000 » 14l 500,000
= 400,000
e 100,000
03 A& S THHI 1,000 1,000 0
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1,000, 000& 14! 1,000
QA0 22 EX S3ot=HelAlE & 700,000 0 700,000
401 A& HIZ 201 Y] 700,000 0 700,000
01 A& HI 700,000 0 700,000
O A0t 22X S3ct=XelAl&E EXA
et 700,000,000 =14l 700,000
sHEO0tSot=% ZH| 3,706,255 9,739,000 A6,032,745
= 2,557,000
= 216,000
s 933,255
SOHEOMSE=T U (84 AIS) 522,000 2,031,000 A 1,509,000
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= 365,000
< 31,000
= 126,000
401 A& HIZ 201 I 522,000 2,031,000 A 1,509,000
= 365,000
< 31,000
s 126,000
01 A& HI 522,000 2,030,000 A 1,508,000
O 84 NS sOoHENSGHSE
522,000,000 =104 2 522,000
= 365,000
< 31,000
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SOHEONS6=T U (4 A 185,000 1,000,000 A 815,000
= 129,000
< 11,000
fia 45,000
401 A& HIZ 201 Y] 185,000 1,000,000 A 815,000
= 129,000
S 11,000
i 45,000
01 A& HI 115,000 959,000 A 844,000
O 84 MY sHE OiSdt=&
115,000, 000& 14! 115,000
= 69,000
< 11,000
e 35,000
02 2feldl 70,000 40,000 30,000
O 8d Mg sHE OtSot=x=
70,000,000 =14 70,000
= 60,000
e 10,000
sHEONS6l=T U (H= B2 439,255 1,000,000 A 560,745
= 274,000
= 23,000
s 142,255
401 A& HIZ 201 I 439,255 1,000,000 A 560,745
= 274,000
< 23,000
e 142,255
01 A& HI 288,255 969,000 A 680,745
O H= Be s0&E OtSdt=
288,255,000 » 14! 288,255
= 174,000
= 23,000
e 91,255
02 2feldl 150,000 30,000 120,000
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O A= B sHE OiSdt=&
150,000, 000& * 14! 150,000
= 100,000
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03 Al S THHI 1,000 1,000 0
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1,000, 000& 14 1,000
SHEMSE=E JH(2E AE) 163,000 1,000,000 A 837,000
= 114,000
< 9,000
s 40,000
401 Al HIZ 201 I 163,000 1,000,000 A 837,000
= 114,000
< 9,000
s 40,000
01 A& Bl 93,000 959,000 A 866,000
=B NE S0E OIS0+
93,000,000& =14 93,000
= 54,000
< 9,000
s 30,000
02 Zeltl 70,000 40,000 30,000
O =% HE S0/Z DI85+ &
70,000,000& =14l 70,000
= 60,000
e 10,000
SHENSo=E JHI(8Y &&) 429,000 1,000,000 A571,000
= 300,000
< 25,000
s 104,000
401 Al HIZ 201 I 429,000 1,000,000 A571,000
= 300,000
= 25,000
s 104,000
01 A& HI 279,000 969, 000 A 690,000
O =22 22 50& 0Sdt+s
279,000,000 =14 279,000
= 200,000
< 25,000
s 54,000
02 Zeltl 150,000 30,000 120,000
52 & sOHE OISt &
150,000, 000& * 14! 150,000
= 100,000
e 50,000
SHEMSE=T JU(=2E 2AE) 165,000 1,000,000 A 835,000
= 115,000
= 10,000
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o 40,000
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= 115,000
< 10,000
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e 30,000
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= 65,000
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< 33,000
= 136,000
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< 33,000
s 136,000
01 A& HI 362,000 280,000 82,000
O &% 08 sHE OiSdl=&
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< 33,000
e 86,000
02 Zeltl 200,000 19,000 181,000
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200,000,000 » 14! 200,000
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[ 50,000
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s 133,000
401 Al& HI & 28I 553,000 300,000 253,000
= 387,000
< 33,000
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01 A& HI 553,000 280,000 273,000
O stet Xl sHE OtSot===
553,000,000 =14l 553,000
387,000
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O oidzd=cl & HHH =& 175,000& = 10CH 1,750
O Aot E 3| 70,000& x13] 70
202 O4dl 3,600 7,200 A 3,600
01 = LHA YI 3,600 7,200 A 3,600
O 454G AEY ALET UL
20,0003 «1H+15 128 3,600
HE2AZH (Aot=Z At L) 84,014 94,752 A 10,738
Jl2Z I (Adt=S AN &) 84,014 94,752 A 10,738
Jl2Zel (Aot A A) 26,700 26,400 300
201 Let2d] 19,000 19,000 0
01 At 22l 19,000 19,000 0
O BEM22H(E5Y) 19,000, 000& 19,000
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